Electric Drives Linear Motion and Rexroth
and Controls Hydraulics Assembly Technologies Pneumatics Service
Bosch Group

EEAFSEL > BESE

#51 ZSC




2 Bosch Rexroth AG | Pneumatics

EEFSE - SOSE

#3731 ZsC
= [ . BB RARIBIR, &5 ZSC 3
= I } > 36 -25mm» WIEA » HREMEFEZE » £ih: 384 » Easy-2-Combine-§Efs 5iE iR
7 [— BAM—E » REWEE » H—HLRESH3 S
T w
B4
B 44 4B B
PR AR BT 17
Easy-2-EARERASH
Easy-2-Combine, EiE& A 18
» FFEE&I&E 1 ZSC/GSP
Mb
« &
B Easy-2-Combine, ZEHR A 19
EF - > FTHAiE%E - MSC/ZSC
Easy-2-Combine, &% 3t 4 4
= S HTAARE | GSU/ZSC =
- Easy-2-Combine, ZE£%3E4H 1+ 25
.fp,,_,?_—{ﬁ%’ » AF4AE%E : RTC-CG/ZSC
IR 27
(=)
(=)
-
@oc.
femiss, fERBEETMH. MY
fREkER, 25 SH4 28
/ > HEY » ZikiESk, M8, 3-8, TIRTEIES], LI B
e femiss, A5 SHa 29
= = > Y > TN BHNES
SRR, 25 ON2 en
g—" > fEEE, M8, 3-81 » FIAEt Mg, 3-8 » EHN
M8x1 fEEE (B3%), &% CN2
’ > $HEE, Max], 3.5t » EHY i
.
M8x1 & (%), 23] CN2 32
AN > FREE, MSx1, 3-8t » A
BB
6 TR E N 34

HEFIRARNM SRS MEER O SEENER, FHRERFLMYE

SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 3
EENSKE - SESE
%%l ZSC
” TR EMME 35
f‘{ o,
g {,"” =g
v =
TR EMME 36
o
=y ?
W TR EME 36
TR EMME
T\ »%C 37

HEFIRARNM RS MEER O SEEAER, FRERFERMYE

SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



4 Bosch Rexroth AG

EEFSE - SFASE

| Pneumatics

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H
— M RESHMIF

9

Vi

e

—

-

o

PSLID_003

1
L

J

{
—
—

a28

BIRIEH
IEENER

MERE R/ME/RAE

RIEEENREE
R

FARLK /)N max.
EHEESHHESHE
HEFEHEINEN

ek
e
TEER
EER
=
Ema
55

CEIME, HXEMC-#M

1,5 bar/ 7 bar
+0°C/+60°C
+0°C/+60°C
EHEZS

5um

0 mg/m? - 5 mg/m3
6,3 bar

86, PRIRE AL
TEW,

B BRARE LA EE
BB

$BM, FRRE AL

TN

BAMEE

n EHNERLREMEFIREMAREES °C, FERIT B

m EREESHIRSELAEENMERFGPRERE,
m AR{EAZT Bosch Rexroth AR IFATHIALIME, B0 “RABERETHHHE,

=R —yN =]

B [=] /m.

A3 °C.

EE-0 | [mm] 2x6 2x10 2x16 2x20 2x25
O M5 M5 M5 G1/8 G1/8
HOFES, Bit [N] 26,5 73,7 217,4 332 519,1
HHEES, BiR [N] 35,3 98,9 253,3 395,6 618
BAEEMHIEE [m/s] 0,5 0,5 0,5 0,5 0,5
RAEEREEEE [m/s] 0,5 0,5 0,5 0,5 0,5
ZhEEE [Nm] 0,018 0,055 0,11 0,16 0,24
SRR KRB R E [kl 0,6 1,3 2,6 43 57
EERE [mm] 0,05 mm 0,05 mm 0,05 mm 0,05 mm -
EE-O 2x6 2x10 2x16 2x20 2x25

1742 10 2650113000 2650113120 2650113280 2650113440 2650113600

20 2650113010 2650113130 2650113290 2650113450 2650113610

30 2650113020 2650113140 2650113300 2650113460 2650113620

1 40 2650113030 2650113150 2650113310 2650113470 2650113630

L I } 50 2650113040 2650113160 2650113320 2650113480 2650113640

[ T 60 2650113050 2650113170 2650113330 2650113490 2650113650

! ! 70 2650113060 2650113180 2650113340 2650113500 2650113660

80 - 2650113190 2650113350 2650113510 2650113670

90 - 2650113200 2650113360 2650113520 2650113680

100 - 2650113210 2650113370 2650113530 2650113690

HEFIRARNM SRS MEER O SEENER, FHRERFLMYE

SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 5
EEFSE - SESE
RERIRFR, 25 ZSC
> 9 6-25mm > RIEMRX » FHIEEE » &4: 3% » Easy-2-Combine-fEB S5ERLRAN—E » EREWEE » F
— B ERESHSIF
EE (kg) EE-0 2x6 2x10 2x16 2x20 2x25
1772 10 0,105 0,199 0,366 0,644 1,067
20 0,125 0,228 0,409 0,711 1,161
30 0,145 0,257 0,452 0,778 1,255
40 0,165 0,286 0,495 0,845 1,349
" 50 0,185 0,315 0,538 0912 1,443
[ ] 60 0,205 0,344 0,581 0,979 1537
70 0,225 0,373 0,624 1,046 1,631
80 - 0,402 0,667 1,113 1,725
90 0,431 0,71 1,18 1,819
100 0,46 0,753 1,247 1,913

A4 M [Nm], flinETER

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH

DSLID_030




6 Bosch Rexroth AG | Pneumatics

EEFSE - SFASE

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H
— M RESHMIF

EHEHE M [Nm], 540585 hniEE

Mp My
P P
A : 2
|

|
i
i

‘ A2

|

A3
|

©
°| O
|

A

Al, A2, A3 =1EEKE [mm]
L1, L2, L3 = fHi<E [mm]
Mp. My. Mr = 71%E M [Nm]
W = iZZIHRE [kg]

HE-0 A1 A2 A3 MP MR MY
[mm] [mm] [mm] [Nm] [Nm] [Nm]

6 20 11,5 11 1,59 0,67 0,53

10 26 15 12,5 2,01 2,01 1,6

16 33 18,5 15 6,17 6,17 4,94

20 38 22,5 18 8,23 8,23 6,59

25 47 27,5 22 10,29 10,29 8,23

A1, A2, A3=1BIEKE [mm]
Mp. My, Mr= /1% M[Nm]
BARTFHNE = BENE + T HE

HEFIRRR MRS MEE R PO SRR RMER, FEERE LMY E
SEHER-BF, ELPDF, HIETF 2011-10-27, © Bosch Rexroth AG, {REEMALF



EERSE - FRASE

Bosch Rexroth AG

| Pneumatics

RRRIRER, R ZSC

> @6-25mm » REAX » HEHMEEE » 214 381 » Easy-2-Combine-§ii3 5EELRAHF—IE » BEEWEE » 1

— LR E ST

ZsC6
15 30 D ExM4 t=6
© iy @ %- ¢
@aF8t=4  \ Lef BAF8t=4
2xM5 a b
|_K_l/7
K o
11 13
A 15
2xM3 t=4,5 AxM4 £=6
2xM5 22 12 c
e 18
13 15 |30 D
- 17_) 1
8 20|14
= 8 |45
ind|irdlhy iy
B i - o
o N
3§ @ 1 e 2| e s o 5 @ 9l o o
%) o ilo © © & o €
% e
i / o] i
35 || |5 8| 31 ’6‘ FxM4 t=6 6
2xM3 t=5,5 @4F8t=4 gaFst=4 ||6| /Ex@33d 16,5 |05

a) EFE= SO b) HIZFRHISR AR (AL

F10 mmipEg) c) EAEESIEOEF d) M3 - N LE#FHNIZL

DSLID_008

t=RE
EE-O S A B [ D E 1) F1)

6 10 53 45 - - 4 4
6 20 63 55 21 - 4 6
6 30 73 65 31 - 4 6
6 40 83 75 41 - 4 6
6| (50)* 93 85 51 30 6 6
6| (60)* 103 95 61 30 6 6
6| (70)* 113 105 71 30 6 6

S=17%&

1) $hFLEE

* &3

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-10-27, © Bosch Rexroth AG, 1783 & X4LF]




8 Bosch Rexroth AG | Pneumatics

EEFSE - SFESE

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H
— M RESHMIF

ZSC 6, TR IR

31 6 S

1
|75
=

13 19,5

N

24 2xM5x 0,75

10,5

Pe 0 Do

Far W —atiny

Do © © D6 [

|
||

[ S

15,5

1 ook
©y

30
1,2

L]

21

o
N
0,5
w
=
a

/ <16,5

DSLID_021

S =171

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, T4PDF, #IETF 2011-10-27, © Bosch Rexroth AG, 1R & X4LF]



EERSE - FRASE

Bosch Rexroth AG

| Pneumatics

RRRIRER, R ZSC

> @6-25mm » REAX » HEHMEEE » 214 381 » Easy-2-Combine-§ii3 5EELRAHF—IE » BEEWEE » 1

— LR E ST

ZSC 10

2xM3 t=6
2xM5 ¢

50
25
16

16

55

2xM3 t=7

17 40 D ExM4 t=6
4%
of o ¢ e © ¢
= N
@4F8 t=4 6| [@4Fat=a
2xM5 a b
Lp/
pia % I =
LZJ 15
A 1,5
gl 2 B 4xM4 t=8
25 22 C 22
17 40 D 21 1
19 28 12 .45
u g .
‘ g
D K3 © ¥
SEL %{% 2 ;@ [ — @f# [ E— B & 7L R B8
e (69 & P &
‘ ‘ \ @_w
7 (4l (
10 42 7 2xM4 =8 18
PAF8 t=4 ||§ Ex@3,3d 1,51_.20 | 05

D4F8 t=4

a) ER= SO b) MIZREIS[FVEL (REEAF10 mmihig) o) ERTSEOFHA d) M3 - A EE#HNELY
to

A
N IZ

DSLID_009

EE-0 ) A B [ D E1) F1)
10 10 67 57 - - 4 4
10 20 77 67 21 - 4 6
10 30 87 77 31 - 4 6
10 40 97 87 41 - 4 6
10 50 107 97 51 - 4 6
10| (60)* 117 107 61 40 6 6
10| (70) 113 105 71 30 6 6
10| (80) 137 127 81 40 6 6
10|  (90) 147 137 91 40 6 6
S =171
1) $hFLEE
* 1gia)if)

HEFIRARNM RS MEER O SEEAER, FRERFERMYE

SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH




10 Bosch Rexroth AG | Pneumatics

EEFSE - SFESE

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H

—FRBESHSIS

mE-g S A B C D E1) F 1)
10| (100)* 157 147 101 40 6 6
S = 1712
1) $hFLEE
&1

ZSC 10, H RS L3R e 2 bR

42 7 S €26
| )
E; ) o)
I @ —% g«
< @ = o
29 2xM8x0,75

15 2
I\ : ‘
Y. L © ¢ & & &
w 2 Q oo ¢ 5 o5 % ==
s 7 | & @ ERG @ 4 =l =
T e— ﬁ@f I © ﬁg_w
oAl & s
2 | 15 o 3/ | <
33,5

DSLID_023

S =17%#2

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, T4PDF, #IETF 2011-10-27, © Bosch Rexroth AG, 1R & X4LF]



Bosch Rexroth AG | Pneumatics 11
EEFSE - SESE
RZRIRER, R ZSC
> @6-25mm » RIEAX » FHHMEEE » Zib: 3 » Easy-2-Combine-fEi S5iERERFAK—E » EAWEE »
— B HRBESHNSS
ZSC 16
ExMS5 t=7 19 50 D
iy
OT i : @ @ 5 ©
N i
DAF8 t=4 \ 6| | @4F8t=4
2xM5 a b
F’ & &
K 7|
.14 15|
- A L5
2xM4 t=6,5 8| 2 B 4xM5 t=8
2xM5 ¢ 30 26 C 27 _
20,5 19 50 D 26 | 1
11 24 32 15 |55
ey L 8 &
Wi - ' o
B¢ & | & & ©
2 3 ] %g%& S e 88 28 g
sBy go |6 > ¢ o O
\SEE o . i A
i , = |
55 z 10 52 10 FxM5 t=10 10,5
2xM4 t=8 D4F8 t=4 D4F8t=4 18] Ex@42d 1,5 25 0,5
a) ﬁ’—?g%u b) {TTEMRHIZEMIRLL (FREATF 10 mm 1738) o) FEFHZSIEND d) M4 124, N EATTIAERE,
t= REE
EE-0 S A B c D E 1) F1)
16 10 80 70 - - 4 4
16 20 90 80 24 - 4 6
16 30 100 90 34 - 4 6
16 40 110 100 44 - 4 6
16 50 120 110 54 - 4 6
16|  (60)* 130 120 64 - 4 6
16| (70)* 140 130 74 50 6 6
16 80 150 140 84 50 6 6
S=17%&
1) $hFLBIE
* IElai

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-10-27, © Bosch Rexroth AG, 1783 & X4LF]




12 Bosch Rexroth AG | Pneumatics
EEFSE - SESE

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H
— M RESHMIF

mE-g S A B C D E1) F 1)
16|  (90)* 160 150 94 50 6 6
16| (100)* 170 160 104 50 6 6

S = 1712

1) $hFLBIE

& a1

ZSC 16, H RS IE 3R e 5 has

52 10 ) <40
’ ‘El 2 s
m TH_ 19 [te)
AL s I
e o ETE,
B o
<43 2xM10x1
18 3
< o @@%, o @2\? A? N ,;.@A ® ]
™ Ty 52 NZAid @y hid hd i d =
N T e & 4 1 S
© D :4 J ™
@ o[ :] @ ﬁ 1*
25 || 15 2 3‘6 <33

DSLID_025

S =17%#2

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, T4PDF, #IETF 2011-10-27, © Bosch Rexroth AG, 1R & X4LF]



Bosch Rexroth AG | Pneumatics 13
BEEFSE - SEASE
RZRIRFR, R ZSC
> @ 6-25mm » MIEMAX » FHHMEEFE » 4 M » Easy-2-Combine-fEiS SiERERFA G —IE » EENEE » F
— & {LRBSHES
ZSC 20
EXM6 t=9 25 55 D
i Tl Lo
g [ e ¢
N oy ﬁﬁ
M 6. @4F8t=4
2xG1/8 a b
T -
_JW |16
A
2xM5 t=8 122 B 4xM6 t=12
2xG1/8 ¢ 37 30 c 32
25 55 D 31 |1
30 37 18| 65
[ ¥ o
; T A
; oo K o8 o ¢ &y
3 g S S— e |1 g8¢8
' G D ¢ . ®
N2 +
Y O
2
W kd
65 | 75 14 60 11 FxM6 t=12 113
2xM5 t=8 Q4F8 t=4 @4F8t=4 | |g Ex@5.2d 1,5 30 | 05
a) RE 9b) RE 4 c) O 1TIZRHIBAIIELe)RE 8
f) O g) FE 12 h) $57L M5, 19 W L.
* NEEATF10 mmiTiE.
t=RE
EE-0 S A B c D E1) F 1)
20 10 93 79 - - 4 4
20 20 103 89 24 - 4 6
20 30 113 99 34 - 4 6
20 40 123 109 44 - 4 6
20 50 133 119 54 - 4 6
S=17#&
1) $EFLEE
* &

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-10-27, © Bosch Rexroth AG, 1783 & X4LF]




14
BETSIE - SRS

Bosch Rexroth AG | Pneumatics

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H

—FRBESHSIS

HE-0 S A B c D E1) F1)
20| (60)* 143 129 64 - 4 6
20| (70)* 153 139 74 - 4 6
20 80 163 149 84 55 6 6
20|  (90)* 173 159 94 55 6 6
20| (100)* 183 169 104 55 6 6
S =171
1) $h7LEE
* 75 8)i)
ZSC 20, #Hig iR 1E$4Reg 25 hag
60 11, <40 _
T T
eI ===
N e - T
L@ o = .
<43 2xM12x1
19 3
§kﬂ |
o L ® Qo 0© (O
1yl @ 8 59 edh @ o 3
o I
il © Go o0&  ©o [ =
§ an . T
@ j L N
30 | 15 0 3 |l7|. <32
49

S =17%#2

HEFIRARNM SRS MEER O SEENER, FHRERFLMYE

S@ER-B5, T4PDF, #IETF 2011-10-27, © Bosch Rexroth AG, 1R & X4LF]

DSLID_027




Bosch Rexroth AG | Pneumatics 15
EEFSEL - SASEL

HiERRBWR, 23 ZSC
> @6-25mm » REAX » HEHMEEE » 214 381 » Easy-2-Combine-§ii3 5EELRAHF—IE » BEEWEE » 1
— KRB SHMSF

ZSC 25
ExM8 t=12 27 70 D
s |0 e o
\ P48 t=4 \g @4F8 t=4

2xG1/8 a b

‘ [ ) O

B g
\A i{_J

2xM6 t=9 A

2xG1/8 ¢ 122 B AMBt=12
29 41 40 c ;’; 1
14,5 27 70 D
= 20| 75
(ig‘ | X X #\%/—
ﬁ@ ; O P & D © )
838 -1 = = P . . N 388
oL ol B ) o ©
7R A
(ol n @
, N || ®
7.5 8,5 14‘ 78 13 FxM8 t=15 15
2XM6 =10 \  @4F8 t=4 gaFst=4 | g Ex26.6d 15 35 |05

DSLID_012

a) §'—T§§D b) TAZMRFIFRAIRG (REATF 10 mm 4738) ) HETFMZSIEO d) M6 247, M LA RTLUERE,
t= %Téx

EE-0 S A B [ D E 1) F1)
25 10 113 99 - - 4 4
25 20 123 109 28 - 4 6
25 30 133 119 38 - 4 6
25 40 143 129 48 - 4 6
25 50 153 139 58 - 4 6
25|  (60)* 163 149 68 - 4 6
S = 1718
1) $RFLEIE
* g

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-10-27, © Bosch Rexroth AG, 1783 & X4LF]



16 Bosch Rexroth AG | Pneumatics
EEFSE - SESE

RiERRBWR, 3 ZSC
> @6-25mm » REAR » HEMETE » 25 3§ » Easy-2-Combine-§ii3 5EELRANF—IE » BEWEE » H
— M RESHMIF

mE-g S A B C D E1) F 1)
25|  (70)* 173 159 78 - 4 6
25 80 183 169 88 - 4 6
25|  (90)* 193 179 98 70 6 6
25| (100)* 203 189 108 70 6 6
S = 17#8
1) $hFLEE
* & E

ZSC 25, GRS L 3R e 2 bR

78 ]13‘ S ‘<31 ‘
7 I —
i e E
a4 a = P o
2 2 N
<43 2xM12x1
22 3

A &
QP

@¢ 9@

°
y

©¢ SO @ &
£

@
©

©

&
|

29,5

33
\

30,5

3l8 <31

35

DSLID_028

S =17%2

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, T4PDF, #IETF 2011-10-27, © Bosch Rexroth AG, 1R & X4LF]



Bosch Rexroth AG | Pneumatics

EERSE - FRASE

17

%31 ZsC
Pt 14

Pt R #BE 5T

00136574

N

ERERATHESHMGEEESI EMLE, BETHLER, Bit, FAFERERERTEEERNEIHEE,

% &
| <l

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



18 Bosch Rexroth AG | Pneumatics

EEFSE - SFASE

#31 ZSC
Bt

Easy-2-Combine, R A%
» ATHEAERE : ZSC/GSP

EER $BH, PRtRE AL
1847 1) i, $EE

1) ISO 4762:2004

-

| =

00120647

BRARMEE
m %/ &2 EasyHandling 28I 4.

Easy-2-Combine-Ztt} Easy-2-Combine-Z2% 4 Easy-2-Combine-Z2 3 4H {4 B2 FeamitEn

[kgl
ZSC-10 GSP-P-08 CK1-LI-106 0,02 R412004678
ZSC-16 GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-101 0,02 R412000785
ZSC-20 GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-102 0,03 R412000786
ZSC-25 GSP-P-20 CK1-LI-103 0,07 R412000787

FEFE®R%: GSP-A/-P/-R

00120599 00120600

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics

EERSE - FRASE

19

#7%1 ZSC
B4

CK1-LI-101/-102/-103 / -106
A-A . . 1
V| 777727 1 =

i
L1

B N
AT SN SEG ey
A ! a A
00120628
Easy-2-Combine-Z3¢4H {5 B1 B2 H1 L1
CK1-LI-106 16 4 6 46
CK1-LI-101 16 3 6 50
CK1-LI-102 20 4 8 62
CK1-LI-103 24 4 8 80
HITEE : A) EREAR B) 184T
Easy-2-Combine-Z&23%4H A B 1)
CK1-LI-106 1x 2 x M4x12; 2 x M3x8
CK1-LI-101 1x 2 x M3x8; 2 x M5x14
CK1-LI-102 1x 2 x M3x8; 2 x M6x16
CK1-LI-103 1x 2 x M4x12; 2 x M8x20
1) FFEHEHAMS = 2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%; M8 = 25 Nm + 10%

Easy-2-Combine, &% 340 4
» ATFEERE : MSC/ZSC

EZEH 2) W, K
RER TEWR

EHEER B, PRIRELALE
$24T 1) H, $EE
T-RUREIRE TEW; W,

00120638

1) ISO 4762:2004
2) ISO 2338:1997

BAMEE

m %/ f=2 EasyHandling REHMZE 4.

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



20 Bosch Rexroth AG

EEFSE - SFASE

| Pneumatics

#31 ZSC
Bt

Easy-2-Combine- it}

Easy-2-Combine-223% {4

Easy-2-Combine-223%4H (%

PR

[kq]

MSC-08

ZSC-06

CK1-LI-12

0,07

R412004641

GPC-ST-12, GPC-ST-20,
MSC-12, RMC-HE-186,
RMC-HE-25, RTC-HD 16,
RTC-HD 25

GPC-E-12, ZSC-10

CK1-LI-13

0,1

R412004665

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,
RMC-HE-16, RMC-HE-25,
RTC-CG 16

GPC-E-16, ZSC-16

CK1-LI-14

0,17

R412004661

GSU-25, MSC-25, RMC-
HE-32, RTC-CG 32, RTC-
HD 32, RTC-HD 40

GPC-E-20, ZSC-20

CK1-LI-15

0,26

R412004662

GSU-25, MSC-25, RTC-CG
32

ZSC-25

CK1-LI-16

0,3

R412004663

EAEREK : 9m

EAREK : #E

00117719

00117721

00117720

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4

00117722




Bosch Rexroth AG | Pneumatics

EERSE - FRASE

21

#7%1 ZSC
B4

BR=EK YA

00117725

BlRR : M

00117723

MEEIRITRREENERN RO CERAER, $AERIEN MY E
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH

00120576

00117724



22 Bosch Rexroth AG | Pneumatics

EEFSE - SFESE

%31 ZSC
Bt

CK1-LI-12

B1

_T
A

L2

CK1-LI-14/-15
A-A

00120632

L1

SN

>
i
A
1
%

B Grod s
i N %\+ / _mT
A

!

00120634_a

CK1-LI-13

CK1-LI-16

AA | |
& NINISEINNNIREE:

L1

S
ag
op

b
@f

T
A

00120633

A-A

i

L1

H1
———]

00120635

Easy-2-Combine-Z23 48 {4 B H1 L1 L2
CK1-LI-12 38 8 68 18,5
CK1-LI-13 49 8 63 10
CK1-LI-14 64 10 72 10
CK1-LI-15 76 12 77,5 10
CK1-LI-16 80 12 80 10

HEFRRR MRS S MEER PO EEERRMER, FHRERIELEYE

ShEm-BR, EZ%PDF, #IETF 2011-10-27, © Bosch Rexroth AG, & & B4F




Bosch Rexroth AG | Pneumatics 23

EERSE - FRASE

#7%1 ZSC
B4

HETERE : A) EH4R B) 557 C) EEE D) EEH E) SRIER

Easy-2-Combine-Z2 340 {4 A B 1) C D
CK1-LI-12 1x 2 x M3x10; 4 x M3x16 2x@5| 2x4m6x12
CK1-LI-13 1x 4 x M3x16; 4 x M4x10; 4 x M4x30 2xQD7;2xD39-7| 2x4m6x12
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6xdJ9| 2x4m6x12

2 x M5x12; 2 x M5x14

CK1-LI-15 1Xx 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16 | 4x @ 12;2x @D 12-9| 2x4 m6x12
CK1-LI-16 1Xx 4 x M5x45; 4 x M6x16; 2 x M6x14; 4 x M6x25 6xd12| 2x4m6x12

Easy-2-Combine-%2 %48 {§ E
CK1-LI-12 -
CK1-LI-13 2x N6 /M4
CK1-LI-14 2x N6/M5
CK1-LI-15 2 x N8 /M6
CK1-LI-16 2 x N8 /M6

1) $FFEHNERAMS = 2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

Easy-2-Combine, &340 4
» AFHERE : GSU/ZSC

& B4 2) W, EAH
AEE TN
SERER 484, PRIREHALEE
00120652 ﬂg%]’ 1) %Ny (fg‘f_i
TR g T, W,

1) ISO 4762:2004
2) ISO 2338:1997

BAMEE
m %M E EasyHandling ZGRIE 4.

Easy-2-Combine-Zfill Easy-2-Combine-Z2 %44 Easy-2-Combine-22 4 14 EE AR
[kgl

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,

RMC-HE-16, RMG-HE-25, GPC-E-16, ZSC-16 CK1-LI-14 0,17 R412004661
RTC-CG 16

GSU-25, MSC-25, RMC-

HE-32, RTC-CG 32, RTC- | GPC-E-20, ZSC-20 CK1-LI-15 0,26 R412004662
HD 32, RTC-HD 40

GSU-25, MSC-25, RTC-CG | 75605 CK1-LI-16 0,3 R412004663

32

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



24 Bosch Rexroth AG | Pneumatics
EEFSEL - SASEL

%31 ZSC
Bt

BIRE  FE

00120609

CK1-LI-14/-15
A-A '

IS

L1

00120610

CK1-LI-16
A-A

C

L1
i
T@t:r%_ﬁ%@@*
AN - y
A $ *\ N o5 }
@ \Jr T * A d} /A\ | -
,7,7,@,@5 @ A _*EMB_ !I\T
A
: o folNo @ o
[
00120634 _a
L2
00123273
Easy-2-Combine-Z3¢4H {4 B1 H1 L1 L2
CK1-LI-14 64 10 72 9
CK1-LI-15 76 12 77,5 8
CK1-LI-16 80 12 80 8
HITEE : A) EHEAR B) 14T C) EFEE D) BEEH E) HRiEE
Easy-2-Combine-Z23 40 {4 A B 1) C D
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6xQJ9 2 x4 m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16 4xd12;2xD12-9 2 x4 m6x12
CK1-LI-16 1x 4 x M5x45; 4 x M6x16; 2 x M6x14;4 x M6x25 6xQJ12 2 x4 m6x12

1) FEHEFEAMA = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm = 10%

HEFIRRNM RS S N ERENF.OCERZITER, FAERIE Y%
ShEm-BR, EZ%PDF, #IETF 2011-10-27, © Bosch Rexroth AG, & & B4F




EERSE - FRASE

Bosch Rexroth AG | Pneumatics 25

#7%1 ZSC
B4

Easy-2-Combine, &34 4
» AF4A2&%& : RTC-CG/ZSC

N B2 2) W, A
3 MHRER TEEW
X . R S, PRARSEILALEE
1247 1) W, SEEE
T-BUfEIEE W, W, HE8E
1) ISO 4762:2004
2) ISO 2338:1997
BRAMEZE
m %= f=2 EasyHandling R4 HE 4.
Easy-2-Combine-Ztfil Easy-2-Combine-223 {4 Easy-2-Combine-Z22 414 EE S ]
[kg]
GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,
RMC-HE-16, RMC-HE-25, | GPC-E-16, ZSC-16 CK1-LI-14 0,17 R412004661
RTC-CG 16
GSU-25, MSC-25, RMC-
HE-32, RTC-CG 32, RTC- GPC-E-20, ZSC-20 CK1-LI-15 0,26 R412004662
HD 32, RTC-HD 40
gzsu-zs, MSC-25, RTC-CG | 756.25 CK1-LI-16 0,3 R412004663

MEEIRITRREENERN RO CERAER, $AERIEN MY E
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



26 Bosch Rexroth AG | Pneumatics

EEFSE - SFASE

%% ZSC
Pt #F

BIRE  FE

CK1-LI-14/-15
A-A

AN

L1

@/ Iy -
i N %\+ / _mT
A

—
i
A
IS
%

'

00120634_a

00129819

CK1-LI-16
A-A

00129820

i

H1

L1

00123273

Easy-2-Combine-2235 40 # B1

H1 L1

L2

CK1-LI-14 64

10 72

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 27

EEFSEL - SASEL
#7%1 ZSC
P4
Easy-2-Combine-Z23£ 48 B H1 L1 L2
CK1-LI-15 76 12 77,5 8
CK1-LI-16 80 12 80 8

HITEE : A) E#ER B) 5T C) BEE D) BEH

Easy-2-Combine-&23 40 A B1) (o} D
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6x09 2 x4 m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16 4xd12;2x D 12-9 2 x4 m6x12
CK1-LI-16 1x 4 x M5x45; 4 x M6x16; 2 x M6x14;4 x M6x25 6xQJ12 2 x4 m6x12
1) #FEHEFEAMS =3,5Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm * 10%

SRR

Fig. 1 Fig. 2

-g@o | |

00112657
P iiEs (%] A B c D E E #ixE| BEkR
k6 k6 +0,1 -0,2 +0,2 [1#1

R412000669 5 5 - 34 3 - REEN 6| Fig. 1
R412000668 7 7 - 55 3 - REEN 6| Fig. 1
R412000670 9 9 - 6,6 4 - EEN 6| Fig. 1
R412000671 12 12 - 9,0 4 - EEN 6| Fig. 1
R402003731 16 16 - 11 6 - EEN 6| Fig. 1
R412004030 5-7 7 5 3,4 3 1,5 TEFH 6| Fig.2
R412004032 5-9 9 5 3,4 35 1,5 TEEH 6| Fig.2
R412004033 7-9 9 7 5,5 3,5 1,5 TEFH 6| Fig.2
R412004034 9-12 12 9 6,6 4,0 2 W 6| Fig.2
R402003736| 12-16 16 12 9 5 2 TEEWN 6| Fig.2

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



28 Bosch Rexroth AG | Pneumatics
EEFSE - SESE
#3% ZsC
P45
f&/%e8, &35 SH4
> WG » ZMEL, M8, 3-&, WIRTEIRET, &M EIB R ES
NERE s/ME/RKE +0°C/+60°C
Uiiae2%1 IP 67
ERZHRERSER ae
HREHBE N 10 - 55 Hz, 1,5 mm
et oo MErEAN 30g/11ms
[ESR
ST REtEZ
CEE BRZE
EEHXE BE4RE L T{EEEDC | MEIEF(FFXE | RAXMEER =+ =R
RIVEX | %), ERE, &
XfE.
[m] v [A] V]
y— 0,15 1) 2650122040
ZE _— B PNP 3 5/28 0,05 2) 2650122050
‘ BF NPN 3 5/28 0,05 <05 2)| 2650122081
1) BE. AER: SRk, M8; 3-8t TR IR
2) RE. A& &INEBHES
EERR, RRIERP
s
dpmtt,
i ©) 1 T— ; BK
T | e @
i _—1HUI_D—[E} T Kj} :
1" = k&

L= BEKE
BN = i7f8, BK = B, BU =%
* @ 3 BF PNP

HEFIRARNM SRS MEER O SEENER, FHRERFLMYE

SEHER-BF, ELPDF, HIETF 2011-10-27, © Bosch Rexroth AG, {REEMALF




EERSE - FRASE

Bosch Rexroth AG | Pneumatics

29

%3 ZSC
P44
feR28, &3 SH4
> HFEY > ZCIEBIEDS
= NERE s/IME/RKE +0°C/+60°C
| é’ _ BiEs IP 67, IP 65
T BRERERT &6
(/I REFFES 10 - 55 Hz, 1,5 mm
) RS 30g/11ms
-
00122883 ¥t
5 R
z:k2 REZH
EEAFRE H4KEL| I{eHEDC| ETHEAC| MEBEFEGFX| REHEFEFX| BH F=mikiB
BINRX =®/IVERX i), Eif Bf), 3T
, mX{E. , ImX{H.
[m] vl vl [A] [A]
e , Fig. 1 2650122051
e EHAR 3 10/28 85/115 0,04 0,04 Fig. 2 5650122052
BFTWC @10-32
BE. Ak ZEINEBIES
AR AR
Fig. 1
2 ro8
S BN
- _ ,77,13; ,,,,,,,,,,,
BU
(10) | 6010
22,5 L
] 1%
1" = FXm:
L=HgKE

BN={7f, BU=f

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH




30 Bosch Rexroth AG | Pneumatics
HESE - SESE
%%l ZSC
Pt 14
Fig. 2
N
l 226 \ L
o \
i e N~ BN
- BU
(10 8
22 6010
1* = k|
L=BgKE
BN=#2ts, BU=-I5 &
EEEHELS, 2% CN2
> {BEE, M8, 3-8 » FFIERSILLIR, 3-41 » EHY
RERE R/MEERKE -40°C/ +85°C
BAPELR IP 65
48|
it
YN BER
BAMEE
m AERNRIPERLERTELEMRERRE.
HSED| HifE RBXE ¥ S4&8n| 4514 Fam s
[#EO1] [EO2] [A] [mm?]
1 HZ 180° 1834484166
’ BN o 4 180° 1834484168
XL su| fmE v 3gt| TTBEEHN 4 3 024 E00°ETAH 1834484167
S I i, 3-8f £90° B 1834484169
£90° & 1834484248
FrmiRin HARE L BE
[m] [kgl
1834484166 3 0,091
1834484168 5 0,145
1834484167 3 0,092
1834484169 5 0141
1834484248 10 0,276

HEFIRRR MRS MEE R PO SRR RMER, FEERE LMY E
SEHER-BF, ELPDF, HIETF 2011-10-27, © Bosch Rexroth AG, {REEMALF




Bosch Rexroth AG | Pneumatics 31
BEEFSE - SEASE
%% ZSC
Pt 14
g
L
- 40
by % ™ 3+2
Y| = | §
—_— & //
~ 32 //
3x0,25mm? /
(1) BN=A2f (3) BU-IE (4) BK-Bf ’
L=KE
M8x1 f&RE (8:k), 73 CN2
> IEHEE, M8x1, 3-5F » EHY
NMERE s/ME/EKE -25°C / +80°C
Uik7ake 271 IP 67
st
= bl
HARMEE
B HEMNRIPERRERTEREMRENRE.
FIEHE | Bif, RXE R E B4l | whERMNBESH B
BR/INBRXEE
DC AC
vl [Vl [A] [mm]
Yt BN
| )2——BU 75 60 4 3 BH% 180° 35/5 1834484173
I >—+—BK
EafB RRUE ShEERE BB
[kg]
1834484173 &1 2@ 0,008

HEFIRARNM RS MEER O SEEAER, FRERFERMYE

SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH




32
EEFSE - SFASE

Bosch Rexroth AG | Pneumatics

#31 ZSC
Bt

Mg

M8x1

38,4

32,4

Y

11,6

—

@9,7

a5

———————

5,

16405

M8x1 & EE (B3k), &% CN2
> $EEE, M8x1, 3-5t » H AR

NERE R/ME/EKE -25°C/ +85°C
[Bigiak:2 IP 65
w1}
= BEELRR
BAMEE
B AENRPEZRERTFEREIRERRE.
FEHE | Bif, RXE Bk E H4i5|% | THEREMBEAN B
BIVBKEE
DC AC
vl vl [A] [mm]
p LI SV
| )2—— BU 75 60 4 3 90° T 35/5 1834484174
| >—+——BK
=Rl RRUE SRR BEE
[kdl
1834484174 fE1 2@ 0,008

HEFIRRR MRS MEE R PO SRR RMER, FEERE LMY E
SEHER-BF, ELPDF, HIETF 2011-10-27, © Bosch Rexroth AG, {REEMALF




Bosch Rexroth AG | Pneumatics

EERSE - FRASE

33

%3 ZsC
P
P&
| ca. 28,0
‘ —
ez i
S92 = T
AN ‘ F o
N
|
maxg5,0

15832

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



34 Bosch Rexroth AG | Pneumatics
EEFSEL - SASEL

%31 ZSC
Bt

TTRREMY
],

iﬁdfﬁr“:
v gs‘e NG

;"%Lé

i i

o

£l

~g
1) AT EAEH gAML 2) ATRSIMEMERLE 3) BEE 4) BN 5) AT
PNCTEITIE T
Y 0] CHEABARAE| CEABRARAR| CHEABARIE| CHEARKEAR
T, AR T, IR T, g T, g
[mm] [mm] [mm] [mm]
2650113090 6 5 12 0 0
2650113250 10 5 11 5 11
2650113410 16 5 14 11 19
2650113570 20 5 13 10 18
2650113730 25 5 17 7 17
FITHELEH, R ZSC
FEFIEN AR RS
s R AT RETEN A ERANEEEE
REEATF10 mmiTiE

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4



EERSE - FRASE

Bosch Rexroth AG | Pneumatics

35

%31 ZsC
Pt 14

TR BT

t"—'_‘}
Z@'
o
| # v S
1) AFEEH RIS 2) A FREGEMETIREE 3) BERE 4) BRI
=B [} EEFRAEHE EEFRXRFE
%, BRI ® AHEDE
[mm] [mm]
2650113100 6 12 0
2650113260 10 11 11
2650113420 16 14 19
2650113580 20 13 18
2650113740 25 17 17
FIF A8, 25 ZSC
EETIEW EHIRLE BRI
HEREE: AT EETRENEAERFINEERE
TEEATF10 mmiTiE

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH




36 Bosch Rexroth AG | Pneumatics
EEFSEL - SASEL

#3% ZsC
P45
TEREM G
~ .9
1) BFENHIER LR 2) BEES 3) RS LEIHR
FmiiE o EBFRARAER EHFARKIRFE
E, B &, AiEghes
[mm] [mm]
2650113110 6 5 0
2650113270 10 5 5
2650113430 16 5 11
2650113590 20 5 10
2650113750 25 5 7
FTFHELES, 3 ZSC
TEETIENE MG E R
HESER: AT EETEREMERFINEEESE

ITRREMY

%
00132292

00119188

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-10-27, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 37

HESE - SRSE
%3 ZSC
Pt 14
aiiB e (7] EE #HizE
[kgl ]
2650113240 £Z)hge 10 0,007 2
2650113400 ZEthgg 16 0,02 2
2650113560 Zihsg 20 0,028 2
2650113720 ZZthgg 25 0,028 2
ATFRHBER, 275 ZSC
TEEEITIE W a B & PR
TEIXEMH
» ZSC
M\‘
' }*‘;’/ ) 00132060
B E 3] (7] EE HiEE
[kg] [1#]
2650113080 |  #EkIE#EHR 6 0,006 1
2650113230 | #ERIE#EHR 10 0,009 1
2650113390 |  #ERIE#EBR 16 0,014 1
2650113550 |  #ERIE#R 20 0,022 1
2650113710 |  #ERIEHIR 25 0,014 1
BFHBER, 25 ZSC
TEEE{TAE W 5 4L B BR 1

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-27, © Bosch Rexroth AG, %88 & B4AFH



Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
27-10-2011



	&#32039;&#20945;&#36855;&#20320;&#28369;&#22359;, &#31995;&#21015; ZSC
	&#38468;&#20214;&#27010;&#35272;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	&#23545;&#20013;&#29615;
	&#20256;&#24863;&#22120;, &#31995;&#21015; SH4
	&#20256;&#24863;&#22120;, &#31995;&#21015; SH4
	&#36830;&#25509;&#30005;&#32518;, &#31995;&#21015; CN2
	M8x1 &#25554;&#24231; (&#27597;&#22836;), &#31995;&#21015; CN2
	M8x1 &#25554;&#24231; (&#27597;&#22836;), &#31995;&#21015; CN2
	&#34892;&#31243;&#35774;&#32622;&#38468;&#20214;
	&#34892;&#31243;&#35774;&#32622;&#38468;&#20214;
	&#34892;&#31243;&#35774;&#32622;&#38468;&#20214;
	&#34892;&#31243;&#35774;&#32622;&#38468;&#20214;
	&#34892;&#31243;&#35774;&#32622;&#38468;&#20214;

